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TRIANGLE

1. What is the area (in m²) of a triangle field
whose sides measure 25 m, 39m and 56m?

,d f=kHkqtkdkj eSnku dk {ks=kiQy (oxZ ehVj esa) Kkr
djsa ftldh Hkqtkvksa dk eki 25 eh] 39 eh vkSj 56 eh gSA

SSC MTS 19 August 2019 (Evening)

(a) 210 (b) 240

(c) 420 (d) 480

2. If the three sides of a triangle are 11 cm,
12 cm and 13 cm, then what is the area of
the given triangle (in cm²)?

;fn ,d f=kHkqt dh rhu Hkqtk,¡ 11 lseh] 12 lseh rFkk
13 lseh gS] rks fn, x, f=kHkqt dk {ks=kiQy (oxZ lseh esa)
fdruk gS\

CHSL 12-10-2020 (Evening shift)

(a) 15 13 (b) 13 26

(c) 6 105 (d) 17 42
3. If the area of the triangle DGC is 20 cm²,

then the area of triangle AGF + the area of
triangle BGF is equal to:

f=kHkqt ABC esa] AD, BE vkSj CF eè;js[kk gSa vkSj G
f=kHkqt dk dsaUnzd gSA ;fn f=kHkqt DGC dk {ks=kiQy
20cm² gS] rks f=kHkqt BGF dk {ks=kIkQy fdlds cjkcj gS%

CHSL 19-10-2020 (Morning shift)

(a) 30 cm² (b) 20 cm²

(c) 25 cm² (d) 40 cm²

4. The three medians AX, BY and CZ of ABC

intersect at point L. If the area of ABC is
30 cm², then the area of the quadrilateral
BXLZ is:

,d f=kHkqt ABC ds rhu ekfè;dk,¡ AX, BY vkSj CZ

fcanq L ij izfrNsfnr djrs gS] ;fn  ABC dk {ks=kiQy
30 cm² gS] rks prqHkqZt BXLZ dk {ks=kiQy gS%

MENSURATION (2D)
( PRACTICE SHEET )

CHSL 19-03-2020 (Afternoon shift)

(a) 12 cm² (b) 16 cm²

(c) 10 cm² (d) 14 cm²

Equilateral Triangle

5. The area of field in the shape of a triangle

with each side x metre is equal to the area of

another triangular field having sides 50m ,

70m and 80 m, The value of x is closest to :

izR;sd Hkqtk x ehVj okys ,d f=kHkqt dk {ks=kiQy ,oa
foekvksa 50m, 70m vkSj 80 m okys f=kHkqt dk {ks=kiQy
leku gS] x dk eku Kkr dhft,\

SSC CGL 7 June 2019 (Afternoon)

(a) 65.5 (b) 63.2

(c) 62.4 (d) 61.8

6. Twelve sticks, each of length one unit, are

used to form an equilateral triangle. The

area of the triangle is:

12 NfM+;k¡] ftues ls izR;sd dh yackbZ ,d bdkbZ gS] dk
bLrseky fdlh leckgq f=kHkqt dks cukus ds fy, fd;k
tkrk gSA bl f=kHkqt dk {ks=kiQy gksxk%

SSC CHSL 10 July 2019 (Morning)

(a) 3 3  sq units (b) 2 3 sq units

(c) 4 3 sq units (d) 8 3  sq units

7. If the height of an equilateral triangle is

10 3  cm, the area is:

;fn fdlh leckgq f=kHkqt dh ÅapkbZ 10 3  lseh gS] rks

{ks=kiQy Kkr djsaA

SSC CPO 15 March 2019 (Morning)

(a) 124 3  cm² (b) 75 3  cm²

(c) 80 3  cm² (d) 100 3  cm²
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8. The side of an equilateral triangle is 4 cm.

What is its area?

,d leckgq f=kHkqt dh Hkqtk 4 lseh gSA mldk {ks=kiQy
fdruk gS\

SSC MTS 5 August 2019 (Evening)

(a) 8 3  cm² (b) 6 3  cm²

(c) 9 3 cm² (d) 4 3  cm²

9. ABC and BDE are two  equilateral triangles

such that D is the mid-point of BC. If the

area of triangle ABC is 136 cm², then the

area of triangle BDE is equal to:

ABC vkSj BDE nks leckgq f=kHkqt gS tSls D, BC dk
eè;&fcanq gSA ;fn f=kHkqt ABC dk {ks=kiQy 136lseh2 gS]
rks f=kHkqt BDE dk {ks=kiQy Kkr djsaA

CHSL 20-10-2020 (Morning shift)

(a) 36 cm² (b) 34 cm²

(c) 38 cm² (d) 24 cm²

Right Angled Triangle

10. The area of a right angled triangle having

base 24 cm and hypotenuse 25 cm is:

ml ledks.k f=kHkqt dk {ks=kiQy D;k gksxk ftldk vk/kj
24 lseh vkSj d.kZ (hypotenuse) 25 cm gS%

SSC CPO 15 March 2019 (Evening)

(a) 72 cm² (b) 108 cm²

(c) 92 cm² (d) 84 cm²

11. Twelve sticks, each of length one unit, are
used to form an right-angled triangle. The
area of the triangle is:

ckjg NfM+;k¡] ftuesa ls izR;sd dh yackbZ ,d bdkbZ gS]
dk bLrseky ,d ledks.k f=kHkqt cukus ds fy, fd;k
tkrk gSA bl f=kHkqt dk {ks=kiQy Kkr djsaA

SSC CHSL 10 July 2019 (Afternoon)

(a) 4 sq units (b) 6 sq units

(c) 8 sq units (d) 10 sq units

12. The sides of a triangle are in the ratio 3:4:5.
If the perimeter of the triangle is 24 cm,
its area is:

,d f=kHkqt dh Hkqtk,a 3%4%5 ds vuqikr esa gSA ;fn bl
f=kHkqt dk ifjeki 24 lseh gS] rks bldk {ks=kiQy Kkr
djsaA

SSC CPO 15 March 2019 (Morning)

(a) 18 cm² (b) 24 cm²

(c) 20 cm² (d) 22.89 cm²

13. 70 sticks each of unit length are combined

to form a right angle triangle without

breaking any stick. What is the area (in

square units) of the triangle?

70 rhfy;k¡] ftuesa ls izR;sd bdkbZ yackbZ dh gS] mUgsa
la;qDr djds fcuk ,d Hkh rhyh rksM+s ,d ledks.k
f=kHkqt cuk;k tkrk gSA bl f=kHkqt dk {ks=kiQy (oxZ bdkbZ
esa) D;k gksxk\

SSC MTS 5 August 2019 (Morning)

(a) 210 (b) 180

(c) 240 (d) 350

14. The base and hypotenuse of a right angle
triangle is 9 cm and 41 cm respectively.
What is the ratio of triangle?

fdlh ledks.k f=kHkqt dk vk/kj rFkk d.kZ Øe'k% 9 lseh
,oa 41 lseh dk gSA f=kHkqt dk {ks=kiQy D;k gksxk\

SSC MTS 7 August 2019 (Afternoon)

(a) 180 cm² (b) 170 cm²

(c) 190 cm² (d) 210 cm²

15. The hypotenuse of a right-angled triangle
is 39 cm and the difference between the
other two sides is 21 cm. The area of this
triangle is:

fdlh ledks.k f=kHkqt dk d.kZ 39 lseh gS vkSj vU; nks
Hkqtkvksa dk varj 21 lseh gS] rks f=kHkqt dk {ks=kiQy gS\

SSC MTS 9 August 2019 (Evening)

(a) 360 cm² (b) 270 cm²

(c) 280 cm² (d) 540 cm²

16. What is the area of a triangle with side 35
cm, 84 cm and 91 cm?

35 lseh] 84 lseh rFkk 91 lseh Hkqtkvksa okys fdlh
f=kHkqt dk {ks=kiQy fdruk gS\

MTS 19 August 2019 (Afternoon)

(a) 2160 cm² (b) 1530 cm²

(c) 1470 cm² (d) 1880 cm²

17. A triangle PQR is a right angled triangle at
Q. E and F are the mid points of QR and PR
respectively. What will be the ratio of the
area of quadrilateral PQEF to the area of
triangle PQR.

,d ledks.k f=kHkqt PQR, E ij ledks.k gS E vkSj F
Øe'k% QR vkSj PR ds eè; fcanq gSA prqHkqZt PQEF ds
{ks=kiQy vkSj f=kHkqt PQR ds {ks=kiQy dk vuqikr D;k gksxk\

CHSL 19-10-2020 (Morning shits)

(a)
2

3
(b)

3

4

(c)
3

2
(d)

4

3
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18. The perimeter of a right triangle is 60 cm

and its hypotenuse is 26 cm. What is the

area (in cm²) of the triangle?

,d ledks.k f=kHkqt dh ifjf/ 60 lseh gS vkSj bldk
d.kZ 26 lseh gSA f=kHkqt dk {ks=kiQy (lseh2) D;k gS\

CPO-2019 24-11-2020 (Evening shift)

(a) 120 (b) 96

(c) 90 (d) 60

Isosceles Triangle

19. The base of an isoceles triangle is 6 cm and

its perimeter is 16 cm. Its area is:

,d lef}ckgq f=kHkqt dk vk/kj 6 lseh vkSj bldk
ifjeki 16 lseh gSA bldk {ks=kiQy Kkr djasaA

SSC CPO 16 March 2019 (Morning)

(a) 9 cm² (b) 11 cm²

(c) 10 cm² (d) 12 cm²

20. The unequal side of an isosceles triangle is

2 cm.  The medians drawn to the equal sides

are perpendicular. The area of the triangle

is:

,d lef}ckgq f=kHkqt dh vleku Hkqtk 2 lseh dh gSA
cjkcj Hkqtkvksa ij [khaph x;h efè;dka, yEc gSA bl
f=kHkqt dk {ks=kiQy Kkr djsaA

SSC CPO 16 March 2019 (Evening)

(a) 2 cm² (b) 3 cm²

(c) 5 cm² (d) 1 cm²

21. The sides of an isosceles triangle are
10cm, 10 cm and 12 cm. What is the area
of the triangle?

,d lef}ckgq f=kHkqt dh Hkqtk,¡ 10 lseh] 10 lseh vkSj
12 lseh dh gSaA bl f=kHkqt dk {ks=kiQy Kkr djsaA

SSC MTS 7 August 2019 (Afternoon)

(a) 60 cm² (b) 48 cm²

(c) 40 cm² (d) 44 cm²

22. If in a triangle angles are in the ratio 1:1:2

and the length of its longest side is 6 2 cm,

then what is the area (in cm²) of the

triangle?

;fn fdlh f=kHkqt esa] dks.k 1%1%2 ds vuqikr esa gS rFkk
bldh lcls yach Hkqtk 6 2  lseh dh gS] rks bl f=kHkqt

dk {ks=kiQy Kkr djsaA

SSC MTS 9 August 2019 (Afternoon)

(a) 18 2 (b) 18

(c) 36 (d) 36 2

23. The perimeter of an isosceles triangle is 50
cm. If the base is 18 cm, then find the length
of the equal sides.

,d lef}ckgq f=kHkqt dk ifjeki 50 lseh gSA ;fn bldk
vk/kj 18 lseh gS] rks cjkcj Hkqtkvksa dh yackbZ Kkr djsaA

SSC CGL 7 March 2020 (Afternoon)

(a) 18 cm (b) 25 cm

(c) 16 cm (d) 32 cm

24. In an isosceles triangle ABC with AB = AC
and AD is perpendicualr to BC, if AD = 6 cm

and the perimeter of ABC is 36 cm, then

the area of   ABC is:

,d lef}ckgq f=kHkqt ABC esa AB = AC vkSj AD, BC

ij yacor gS] ;fn AD = 6 lseh vkSj ABC dh ifjf/
36 lseh gS] rks ABC dk {ks=kiQy gSA

CHSL 20-10-2020 (Morning shits)

(a) 45 cm² (b) 48 cm²

(c) 54 cm² (d) 64 cm²

25. In an isosceles triangle ABC, AB = AC and
AD is perpendicular to BC at D. If AD = 8

cm and perimeter of ABC is 64 cm, then

the area of ABC

,d lef}ckgq f=kHkqt ABC esa] AB = AC vkSj AD, BC

ij yacor gS] ;fn AD = 8 lseh vkSj ABC dh ifjf/
64 lseh gS] rks ABC dk {ks=kiQy gSA

CHSL 26-10-2020 (Evning shits)

(a) 130 (b) 124

(c) 120 (d) 125

26. If the perimeter of an isosceles right triangle

is  8 2 +1  cm, then the length of the

hypiotenuse of the triangle is:

;fn lef}ckgq ledks.k f=kHkqt dh ifjf/  8 2 + 1

lseh gS] rks f=kHkqt ds fod.kZ dh yackbZ gS

(CGL Mains 18-10-2020)

(a) 10 cm (b) 8 cm

(c) 24 cm (d) 12 cm

27. In a triangle ABC, AB = BC and the perimeter

of ABC is  8 2 + 2 cm. If the length of BC

is 2  times the length of AB, then find the

area of ABC.

,d f=kHkqt ABC esa AB = BC vkSj ABC dh ifjf/

 8 2 + 2  lseh gSA ;fn BC dh yackbZ AB dh yackbZ

ls 2  xquk gS] rks ABC dk {ks=kiQy Kkr dhft,A

(CGL MAINS 18-10-2020)

(a) 28 cm² (b) 36 cm²

(c) 32 cm² (d) 16 cm²
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28. Equilateral triangles are drawn on the

hypotenuse and one of the perpendicular

sides of a right-angled isosceles triangle.

Their areas are H and A respectively.
A

H
 is

equal to :

fd ledks.k lef}ckgq f=kHkqt ds d.kZ rFkk ,d yEc
Hkqtk ij leckgq f=kHkqt [khaps tkrs gSA muds {ks=kiQy

Øe'k% H vkSj A gSA 
A

H
 dk eku fdlds cjkcj gksxk\

SSC CHSL 10 July 2019 (Afternoon)

(a)
1

4
(b)

1

2

(c)
1

2
(d) 3

1

2

Circle

29. A sector is cut out from a circle of

diameter  42 cm. If the angle of the sector

is 150°, then its area (in square cm) is:

(Take  22/7)

42 lseh O;kl ds ,d o`Ùk esa ls ,d Hkkx dkVk tkrk gS]
;fn bl Hkkx dk dks.k 150° rks bldk {ks=kiQy fdruk
gksxk\

SSC CGL 7 June 2019 (Morning)

(a) 564 (b) 574

(c) 580.6 (d) 577.5

30. The radii of three concentric circles are in

the ratio of 4:5:7. What is the ratio of the

area between the two inner circles to the

between the two outer circles?

rhu ladsafnzr o`Ùkksa dh f=kT;k 4%5%7 ds vuqikr esa gSA nks
ckgjh o`Ùkksa ds chp ds nks o`Ùkksa ds chp ds {ks=kiQy dk
vuqikr D;k gS\

SSC CGL 6 June 2019 (Evening)

(a) 4:7 (b) 5:9

(c) 4:5 (d) 3:8

31. The central angle of a sector of a circle with

a radius of 30 cm measures 210°. What is

the area (cm²) of the sector given ?

30 lseh f=kT;k okys fdlh o`Ùk ds o`Ùk[kaM ds dasnzh;
dks.k dh eki 210° gSA fn, x, o`Ùk[kaM dk {ks=kiQy

(lseh2 esa) D;k gS\ 
 
  

22
π =

7

(a) 1650 (b) 1645

(c) 1649 (d) 1647

32. If the wheel of a bicycle takes 160 rounds
to cover a distance of 1.8 km, then find its
radius ( in m ).

;fn ,d lkbfdy dk ifg;k 1-8 fdeh dh nwjh r; djus
esa 160 pDdj yxkrk gS] rks bldh f=kT;k (ehVj esa)
Kkr dhft,A

SSC MTS 20 August 2019 (Evening)

(a)
45

8
(b)

4.5

4

(c)
15

8
(d)

45

4

33. If the area of a circle is 154 sq. cm, then
find the ratio between the circumference of
the circle and another circle with a radius
21?

;fn ,d o`Ùk dk {ks=kiQy 154 oxZ lseh gS] rks o`Ùk dh
ifjf/ vkSj 21 lseh f=kT;k okys nwljs o`Ùk ds chp dk
vuqikr Kkr dhft,A

SSC MTS 21 August 2019 (Morning)

(a) 1:3 (b) 2:3

(c) 2:1 (d) 1:2

34. The radius of a circular garden is 42 m. The
distance (in km) covered by running 8
rounds around it, is:

SSC CGL 3 March 2020 (Morning)

,d o`Ùkkdkj cxhps dh f=kT;k 42 ehVj gSA blds pkjksa
vksj 8 pDdj yxkdj r; dh xbZ nwjh (fdeh esa) gS%

SSC CGL 3 March 2020 (Morning)

(a) 1124 (b) 4262

(c) 2112 (d) 3248

35. A race track is in the shape of a ring whose
inner and outer circumference is 440m and
506, respectively. What is the cost of

levelling the track at Rs. 6/m² ? 
22

π
7


 
 

,d /kou iFk NYys ds vkdkj esa gS ftldh vkarfjd
vkSj ckgjh ifjf/ Øe'k% 440 ehVj vkSj 506 gSA bl iFk
dks 6 :i;s izfr oxZ ehVj dh nj ls lery djus dh
ykxr fdruh vk,xh\

SSC CGL 3 March 2020 (Afternoon)

(a) Rs. 18966 (b) Rs. 24832

(c) Rs. 19866 (d) Rs. 29799

36. If radius of a circle is decreased by 11%,
then the total decrease in the area of the
circle is given as:

;fn fdlh o`Ùk dh f=kT;k esa 11» dh deh dh tkrh gS]
rks o`Ùk ds {ks=kiQy esa fdrus izfr'k dh deh gksxh\
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SSC CGL 7 March 2020 (Afternoon)

(a) 19.50% (b) 20.79%

(c) 20.50% (d) 21%

37. Find the area and circumference of a circle

if the radius is 14 cm. 
 
 

22
π

7

,d o`Ùk dk {ks=kiQy vkSj ifjf/ Kkr dhft,] ;fn f=kT;k
14 lseh gSA

SSC CGL 7 March 2020 (Evening)

(a) Area/{ks=kiQy = 616 cm²,

Circumference/ifjf/ = 88 cm

(b) Area/{ks=kiQy = 308 cm²,

Circumference/ifjf/ = 44 cm

(c) Area/{ks=kiQy = 44 cm²,

Circumference/ifjf/ = 308 cm

(d) Area/{ks=kiQy = 88 cm²,

Circumference/ifjf/ = 616 cm

38. What is the area of a sector of a circle of
radius 14 cm and the central angle 45°?


 
 

22
π

7

14 lseh f=kT;k vkSj dsaæh; dks.k 45° okys o`Ùk ds
f=kT;•aM dk {ks=kiQy D;k gS\

(a) 11 cm² (b) 77 cm²

(c) 67 cm² (d) 70 cm²

39. A wheel covers a distance of 1,100 cm in
one round. The diameter of the wheel is:

,d ifg;k ,d pDdj esa 1]100 lseh dh nwjh r; djrk
gSA ifg;k dk O;kl gS \

SSC CGL 9 March 2020 (Afternoon)

(a) 175 cm (b) 100 cm

(c) 125 cm (d) 150 cm

40. In the figure, L is the centre of the circle,
and ML is the perpendicular to LN. If the
area of the triangle LMN is 36, then the area
of the circle is:

bl vkd̀fr esa] L o`Ùk dk dsanz gS rFkk ML, LN ij yac
gSA ;fn f=kHkqt MLN dk {ks=kiQy 36 gS] rks bl o`Ùk dk
{ks=kiQy Kkr dhft,A

L
rr

M N

90°

CHSL 12-10-2020 (Afternoon shift)

(a) 70 π (b) 72 π
(c) 66 π (d) 68 π

41. What is the radius of the circle whose area
is equal to the sum of the areas of two circles
whose radii are 15cm and 8cm?

ml o`Ùk dh f=kT;k D;k gS ftldk {ks=kiQy nks o`Ùkksa ds
{ks=kiQyksa ds ;ksx ds cjkcj gS ftudh f=kT;k,¡ 15 lseh
vkSj 8 lseh gSa\

CHSL 12-10-2010 (Evening shift)

(a) 14 cm (b) 15 cm

(c) 13 cm (d) 17 cm

42. The diameter of a wheel is 49 cm. The
number of revolutions in which it will have
to cover a distance of 770 m, is:

,d ifg;s dk O;kl 49 lseh gSA pDdj dh la[;k ftlesa
bls 770 ehVj dh nwjh r; djuh gksxh] og gS%

CHSL 19-10-2020 (Afternoon shift)

(a) 400 (b) 600

(c) 700 (d) 500

43. Two concentric circles form a ring. The
inner and outer circumference of the ring
are 22 cm and 44 cm respectively. The
width of the ring is:

nks ladsafær o`Ùk ,d oy; cukrs gSaA oy; dh vkarfjd
vkSj ckgjh ifjf/ Øe'k% 22 lseh vkSj 44 lseh gSA oy;
dh pkSM+kbZ gS%

CHSL  20-10-2020 (Afternoon shift)

(a) 3.5 cm (b) 1.5 cm

(c) 2.5 cm (d) 3 cm

44. Find the circumference of a circle whose
diameter is 12 inches.

,d o`Ùk dh ifjf/ Kkr dhft, ftldk O;kl 12 bap gSA
CHSL 17-03-2020 (Afternoon shift)

(a) 87.4672 cm (b) 95.7072 cm

(c) 88.1876 cm (d) 90.2348 cm

45. The wheel of a car has 210 cm diameter.
How many revolutions per minute must the
wheel make so that the speed of the car i s
kept at 120 km/h?

,d dkj ds ifg, dk O;kl 210 lseh gSA ifg;k dks çfr
feuV fdrus pDdj yxkus pkfg, rkfd dkj dh xfr
120 fdeh@?kaVk j[kh tk,\

CHSL 18-03-2020 (Afternoon shift)

(a) 326.42 (b) 245

(c) 303.03 (d) 289

46. The area of the quadrant of a circle whose
circumference i s 22 cm, will be:

,d o`Ùk ds prqFkkZa'k dk {ks=kiQy ftldh ifjf/ 22 lseh
gS] og gksxk%

CHSL 19-03-2020 (Afternoon shift)

(a) 3.5 cm² (b) 10 cm²

(c) 38.5 cm² (d) 9.625 cm²
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47. If a wheel has diameter 42 cm, then how
far does the wheel go (in meters) in 12

revolutions? 
 
 

22
π

7

;fn ,d ifg;s dk O;kl 42 lseh gS] rks 12 pDdjksa esa
ifg;k fdruh nwj (ehVj esa) r; djsxk\

CPO-2019 23-11-2020 (Evening shift)

(a) 17.64 (b) 15.84

(c) 23.27 (d) 21.45

Triangle + Circle

48. The area of triangle is 15 sq cm and the
radius of its incircle is 3 cm. Its perimeter
is equal to:

f=kHkqt dk {ks=kiQy 15 oxZ lseh gS vkSj blds o`Ùk dh
f=kT;k 3 lseh gSA bldh ifjf/ fdruh gS%

SSC CGL 4 June 2019 (Evening)

(a) 12 cm (b) 20 cm

(c) 5 cm (d) 10 cm

49. The sides of a triangle are 8 cm, 15 cm, and
17 cm respectively. At each of its vertices,
a circle of radius 3.5 cm is drawn. What is
the area of the triangle excluding the portion
covered by the sectors of the circle ?


 
 

22
π

7

,d f=kHkqt dh Hkqtk,a Øe'k 8 lseh] 15 lseh vkSj 17
lseh dh gSaA blds izR;sd 'kh"kZ ij 3-5 lseh f=kT;k okyk
,d o`Ùk [khapk tkrk gSA o`Ùk ds [kaMksa }kjk ?ksjs x, Hkkx
dks NksM+rs gq, bl f=kHkqt dk {ks=kiQy Kkr djsaA

SSC CPO 12 March 2019 (Evening)

(a) 23.5 cm² (b) 21.5 cm²

(c) 47 cm² (d) 40.75 cm²

50. The sides of a triangle are 56 cm, 90 cm
and 106 cm. The circumference of its
circumcircle is :

,d f=kHkqt dh Hkqtk,¡ 56 lseh] 90 lseh vkSj 106 lseh
gSaA blds ifjo`Ùk dh ifjf/ Kkr djsaA

SSC CGL TIER II (12 September 2019)

(a) 106 π (b) 109 π

(c) 108 π (d) 112 π
51. The sides of a triangle are 12 cm, 35 cm a

and 37 cm. What is the circumradius of the
triangle ?

,d f=kHkqt dh Hkqtk,¡ 12 lseh] 35 lseha vkSj 37 lseh gSaA
bl f=kHkqt dh ifjf=kT;k Kkr djsaA

SSC CGL TIER II (13 September 2019)

(a) 19 cm (b) 17.5 cm

(c) 17 cm (d) 18.5 cm

52. The area of a circular park is approximately
equal to the seven-fifteenth of the area of a
triangular park with sides 10 m, 600 m, and
610 m . Find the diameter of the park.

,d o`Ùkkdkj ikdZ dk {ks=kiQy ,d ,sls f=kHkqtkdkj eSnku
ftldh Hkqtk,a 110 ehVj] 600 ehVj vkSj 610 ehVj ds
{ks=kiQy ds 7@15 ds yxHkx cjkcj gSA ikdZ dk O;kl
fdruk gSA

SSC MTS 20 August 2019 (Morning)

(a) 160 m (b) 120 m

(c) 150 m (d) 140 m

53. The area of a circular ground is
approximately equal to 73.33 % of the area
of a triangular ground with sides 400 m, 420
m and 580 m. What is the circumference (

in m ) of the circular ground ? 
 

  
π

22

7

,d o`Ùkkdkj eSnku dk {ks=kiQy 400 ehVj] 420 ehVj
vkSj 580 ehVj Hkqtkvksa okys f=kdks.kh; eSnku ds {ks=kiQy
ds yxHkx 73-33» ds cjkcj gSA o`Ùkkdkj eSnku dh
ifjf/ (ehVj esa) D;k gS\

SSC MTS 21 August 2019 (Evening)

(a) 880 m (b) 440 m

(c) 1056 m (d) 528 m

54. The area of the largest triangle that can be
inscribed in a semicircle of radius 4 cm in
square centimeters

lcls cM+k f=kHkqt dk {ks=kiQy Kkr dhft, ftls 4 lseh
ds f=kT;k okys v/Zo`Ùk esa vafdr fd;k x;k gSA

CHSL 15-10-2020 (Evening shift)

(a) 16 cm² (b) 14 cm²

(c) 12 cm² (d) 18 cm²

55. ABC is a right angled triangle, right angled
at A. A circle is inscribed in it. The lengths
of two sides containing the right angle are
48 cm and 14 cm. The radius of the
inscribed circle is:

ABC ,d ledks.k f=kHkqt gS] A dks.k ij ledks.k gSA
ledks.k okys nks Hkqtkvksa dh yackbZ 48 lseh vkSj 14
lseh gSA varfuZfgr o`Ùk dh f=kT;k gSA

CHSL 20-10-2020 (Morning shift)

(a) 4 cm (b) 6 cm

(c) 8 cm (d) 5 cm
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Quadrilatiral

56. A diagonal of a quadrilateral is 40 cm. If
the length of the perpendicular to the
opposite ends is 7.5 cm and 8.6 cm. What
is the area of quadrilateral ?

,d prqHkZqt dk ,d fod.kZ 40 lseh- gSA foijhr fljksa ij
yacor dh yackbZ 7-5 lseh vkSj 8-6 lseh gSA prqHkZqt dk
{ks=kiQy fdruk gS\

SSC CPO 14 March 2019 (Evening)

(a) 434 cm² (b) 322 cm²

(c) 368 cm² (d) 288 cm²

Square

57. The area of each square of chessboard
having 64 squares is 4 cm². If there is a
border on all the sides of the chessboard of
2 cm, then the perimeter of the chessboard is:

64 oxksZa okys ,d 'krjat dh fclkr ds çR;sd oxZ dk
{ks=kiQy 4 oxZ lseh gSA ;fn bl fclkr dh lHkh Hkqtkvksa
ij 2 lseh dk fdukjk gS] rks bl 'krjat dh fclkr dk
ifjek.k Kkr djsaA

SSC CPO 14 March 2019 (Morning)

(a) 128 cm (b) 80 cm

(c) 70 cm (d) 256 cm

58. The length of diagonal of a square whose
area is 64 m² is:

ml oxZ ds fod.kZ dh yackbZ Kkr djsa ftldk {ks=kiQy
64 oxZ ehVj gSA

SSC CPO 14 March 2019 (Morning)

(a) 4 2 m (b) 8 2 m

(c) 4 m (d) 8 m

59. The diagonal of a square is 24 cm. Find Its
perimeter.

,d oxZ dk fod.kZ 24 lseh gSA mldk ifjeki fdruk gS\

SSC MTS 6 August 2019 (Morning)

(a) 28 cm (b) 48 2  cm

(c) 36 2 cm (d) 46 2 cm

60. The area of a square is 144 cm2 . What is
the perimeter of the square formed by the
diagonal of the original square as its side?

,d oxZ dk {ks=kiQy 144 lseh2 gSA vkjafHkd oxZ ds
fod.kZ dks Hkqtk ekudj cuk, x, oxZ dk ifjeki D;k gS\

SSC MTS 8 August 2019 (Morning)

(a) 48 2  cm (b) 48 cm

(c) 24 2 cm (d) 24 cm

61. The diagonal of a square measures 6 2 cm.

The measure of the diagonal of square whose
area is twice that of the first square is:

fdlh oxZ dk fod.kZ 6 2  lseh dk gSA ml oxZ ds
fod.kZ dk eki Kkr djsa ftldk {ks=kiQy igys oxZ ds
{ks=kiQy ls nksxquk gS\

SSC MTS 13 August 2019 (Afternoon)

(a) 12 cm (b) 12 2  cm

(c) 6 cm (d) 6 2  cm

62. The diagonal of a square A is (a+b) units.
What is the area (in square units) of the
square drawn on the diagonal of square B
whose area is twice the area of square A ?

,d oxZ A dk fod.kZ (a+b) bdkbZ gSA oxZ B ftldk
{ks=kiQy oxZ A {ks=kiQy ls nksxquk gS] mlds fod.kZ ij
[khaps x, oxZ dk {ks=kiQy (oxZ bdkb;ksa esa) fdruk gksxk\

SSC CLG 5 March 2020 (Morning)

(a) (a + b)² (b) 2 (a + b)²

(c) 4 (a + b)² (d) 8 (a + b)²

63. Triangle PDC is drawn inside the square
ABCD of side 24 cm where P lies on AB.
What is the area of the triangle?

f=kHkqt PDC dks ,d oxZ ABCD ds Hkhrj [khapk x;k gS
ftldh Hkqtk 24 lseh gS rFkk P, AB ij fLFkr gSA bl
f=kHkqt dk {ks=kiQy fdruk gS\

SSC CGL 9 March 2020 (Morning)

(a) 298 cm² (b) 200 cm²

(c) 288 cm² (d) 280 cm²

64. A triangle has sides 25, 39 and 34 units. If
the area of a square exceeds the area of this
triangle by 21 units, then the side of the
square is:

,d f=kHkqt dh Hkqtk,¡ 25] 39 vkSj 34 bdkbZ gSaA ;fn ,d
oxZ dk {ks=kiQy bl f=kHkqt ds {ks=kiQy ls 21 bdkbZ vf/
d gS] rks oxZ dh Hkqtk Kkr dhft,A

CHSL 13-10-2020 (Afternoon Shift)

(a) 22 units (b) 21 units

(c) 18 units (d) 25 units

65. If each side of a square is decreased by 17%,
then by what percentage does its area
decreases?

;fn fdlh oxZ dk çR;sd Hkqtk dks 17» dh deh dj nh
tk,] rks mlds {ks=kiQy esa fdrus çfr'kr dh deh gksxh\

CPO - 2019 25-11-2020 (Morning shift)

(a) 31.11% (b) 30.79%

(c) 44.31% (d) 25%
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Square + Circle

66. The side of a square is 6 cm. Find the area
of the largest circle that can be drawn inside
the square. (p = 22/7)

,d oxZ dh Hkqtk 6 lseh gSA oxZ ds vanj cuus okys lcls
cM+s o`Ùk dk {ks=kiQy fdruk gS\

SSC MTS 2 August 2019 (Afternoon)

(a)
198

7
 cm² (b)

318

7
cm²

(c)
252

7
cm² (d)

156

7
cm²

67. What is the ratio between the inradius and
the circumradius of a square ?

,d oxZ dh var%f=kT;k (bu jsfM;l) rFkk ifjf=kT;k
(fljde&jsfM;l) dk vuqikr D;k gS\

SSC MTS 6 August 2019 (Morning)

(a) 1 : 2 (b) 2 : 3

(c) 1 : 3 (d) 1 : 2

68. What is the area of the largest square which
can be inscribed in a circle of radius 14 cm?
(p = 22/7)

ml lcls cM+s oxZ dk {ks=kiQy Kkr djsa ftls 14 lseh
f=kT;k okys o`Ùk ds Hkhrj [khapk tk ldrk gSA

SSC MTS 7 August 2019 (Morning)

(a) 392 cm² (b) 484 cm²

(c) 196 cm² (d) 784 cm²

69. What is the area of the largest circle that
can be inscribed in a square of side 28 cm?
(p = 22/7)

ml lcls cM+s o`Ùk dk {ks=kiQy Kkr djsa ftls 28 lseh
Hkqtk okys ,d oxZ ds Hkhrj [khapk tk ldrk gSA

SSC MTS 8 August 2019 (Afternoon)

(a) 308 cm² (b) 616 cm²

(c) 476 cm² (d) 512 cm²

70. If the length of a side of a square is equal to
the diameter of a circle, then the ratio
between the area of square and circle is:


 
 

π
22

7

;fn fdlh oxZ dh Hkqtk dh yackbZ o`Ùk ds O;kl ds
cjkcj gS] rks oxZ vkSj o`Ùk ds {ks=kiQy ds chp dk
vuqikr gS

SSC MTS 9 August 2019 (Evening)

(a) 14  :11 (b) 28 : 11

(c) 11 : 14 (d) 11 : 7

71. A wire encloses an area of 616 cm² when it
is bent in the form of a circle. If the wire is
bent in the form of square. Then its area (in
cm² ) is very nearly equal to: (p = 22/7)

,d rkj 616 oxZ lseh dk {ks=kiQy dks ?ksjrk gS tc bls
o`Ùk ds vkdkj esa eksMk fn;k tkrk gSA ;fn rkj dks oxZ
ds vkdkj esa eksM+k tk,] rks bldk {ks=kiQy (oxZ lseh esa)
fudVre :i esa fdruk gksxk\

SSC MTS 22 August 2019 (Evening)

(a) 400 (b) 476

(c) 441 (d) 484

72. In the given figure, the ratio of the area of
the largest square to that of the smallest
square is:

nh xbZ vkÑfr esa] lcls cM+s oxZ ds {ks=kiQy vkSj lcls
NksVk oxZ ds {ks=kiQy dk vuqikr gS%

CHSL 14-10-2020 (Afternoon shift)

(a) 4:1 (b) 2 :1

(c) 3:1 (d) 2:1

73. A wire in the shape of a circle of radius 28
cm is bent in the form of a square. What is
the difference of their areas? (p = 22/7)

28 lseh f=kT;k ds o`Ùk ds vkdkj dk ,d rkj ,d oxZ
ds :i esa eqM+k gqvk gSA muds {ks=kksa esa D;k varj gS\

CHSL 19-10-2020 (Morning shift)

(a) 530 cm² (b) 532 cm²

(c) 538 cm² (d) 528 cm²

Rectangle
74. The length of a rectangular park is 20m

more than its breadth. If the cost of fencing
the park at Rs. 53 per metre is Rs. 21,200,
then what is the area (In square metres) of
the park?

,d vk;rkdkj ikdZ dh yackbZ mldh pkSM+kbZ ls 20 ehVj
vf/d gSA ;fn 53 : izfr ehVj dh nj ls ikdZ esa ckM+
yxkus dh ykxr 21]200 gSA rks ikdZ dk {ks=kiQy (oxZ
ehVj esa) D;k gS\

SSC CHSL 3 July 2019 (Evening)

(a) 9504 (b) 8925

(c) 9240 (d) 9900

https://t.me/mathsbyadityaranjan


M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

9

75. If each side of rectangle is increased by 22%,
then its area will increase by :

;fn ,d vk;r dh izR;sd Hkqtk dks 22» ls cM+k fn;k
tk,] rks bldk {ks=kiQy fdruk c<+ tk,xk\

SSC CHSL 08 July 2018 (Morning)

(a) 44% (b) 50%

(c) 46.65% (d) 48.84%

76. If each side of a rectangle is decreased by
11%, then its area will decrease by :

;fn fdlh vk;r dh IkzR;sd Hkqtk dks 11» ls de dj
fn;k tk,] rks bldk {ks=kiQy fdruk de gks tk,xk\

SSC CHSL 09 July 2019 (Morning)

(a) 21.69% (b) 20.79%

(c) 13.13% (d) 26.78%

77. If the length of a rectangle is decreased by
11% and the breadth is increased by 11%,
its area will undergo :

;fn fdlh vk;r dh yackbZ dks 11» ls de dj fn;k
tk, vkSj bldh pkSM+kbZ 11» ls c<+k nh tk,] rks bldk
{ks=kiQy%

SSC CHSL 09 July 2019 (Afternoon)

(a) 13.13 % Increase/c<+ tk,xk
(b) 1.21% Increase/c<+ tk,xk
(c) 1.21% decrease/ de gks tk,xk
(d) 13.13 decrease/de gks tk,xk

78. Original breadth of a rectangular box is
20cm. The box was then remade in such a
way that its length increased by 30% but
the breadth decreased by 20% and the area
increased by 100  cm² . What is the new
area of the box?

,d vk;rkdkj fMCCks dh okLrfod pkSM+kbZ 20 lseh gSA
bl ckWDl dk iqufuZek.kZ bl izdkj fd;k x;k fd bldh
yackbZ 30» dh c<+k nh x;h ysfdu pkSM+kbZ esa 20» dh
deh dj nh x;h rFkk {ks=kiQy 100 oxZ lseh ls c<+ x;kA
bl fMCcs dk u;k {ks=kiQy D;k gS\

SSC CPO 16 March 2019 (Evening)

(a) 2500 cm² (b) 2200 cm² +

(c) 2600 cm² + (d) 2400 cm²

79. Find the cost of carpeting a room which is
11m long and 6m broad by a carpet which
is 60cm broad at the rate of Rs.112.50 per
meter.

11 ehVj yackbZ rFkk 6 ehVj pkSM+kbZ okys fdlh dejs esa
112-50 :i;s izfr ehVj dh nj ls dkyhu fcNkus dh
ykxr Kkr djsa ;fn dkyhu 60 lseh pkSM+h gSA

SSC CPO 16 March 2019 (Afternoon)

(a) 12375 (b) 13280

(c) 11695 (d) 12040

80. To make two triangles, a rectangular paper

is cut slant. If the diagonal is 4 5  and the

length is twice the width, then the area of
the rectangle is:

nks f=kHkqt cukus ds fy, ,d vk;rkdkj dkxt dks
frjNk dkVk tkrk gSA ;fn fod.kZ 4 5  gS vkSj yackbZ t
pkSM+kbZ ls nqxquh gS] rks t eqxhZ dk {ks=kiQy vk;r gS%

SSC CPO 15 March 2019 (Evening)

(a) 54 cm² (b) 72 cm²

(c) 32 cm² (d) 80 cm²

81. The area of a rectangle is 180 cm² . If the
ratio of length and breadth of the rectangle
is 5:4, then what is the length (in cm) of
diagonal of the rectangle?

,d vk;r dk {ks=kiQy 180 oxZ lseh gSA ;fn vk;r dh
yackbZ vkSj pkSM+kbZ dk vuqikr 5%4 gS] rks bl vk;r ds
fod.kZ dh yackbZ (lseh esa) fdruh gksxh\

SSC MTS 7 August 2019 (Evening)

(a) 423 (b) 317

(c) 369 (d) 371

82. The length of the diagonal of a rectangle is
26 cm and one side is 10 cm. The area of
the rectangle is:

,d vk;r ds fod.kZ dh yackbZ 26 lseh gS rFkk bldh
,d Hkqtk 10 lseh dh gSA bl vk;r dk {ks=kiQy gS%

SSC MTS 9 August 2019 (Morning)

(a) 240 cm² (b) 260 cm²

(c) 65 cm² (d) 130 cm²

83. There is a path of equal width of 3.5 m along
with a building measuring 25 m in length
and 15m breadth. Find the flooring cost of
this path at the rate of Rs. 25.50 per sq. m.

,d 25 ehVj yack rFkk 15 ehVj pkSM+k eki ds Hkou ds
lkFk 3-5 ehVj ,d leku pkSM+kbZ dk ekxZ gSA #25-50
izfr oxZ ehVj dh nj ls ekxZ dh Ýyksfjax ykxr gS%

SSC MTS 9 August 2019 (Evening)

(a) Rs. 8389.50 (b) Rs. 4186.50

(c) Rs. 8146.50 (d) Rs. 9149.50

84. A rectangular park was designed and as a
result of which its length increased by 50%.
If the area of the park, remained unchanged,
then by how much percentage had the
breadth been reduced?

,d vk;krkdkj m|ku dks fiQj ls cuk;k x;k rFkk blds
ifj.kke Lo:i yackbZ 50» ls c<+ x;hA ;fn m|ku dk
{ks=kiQy vifjofrZr jgk] rks pkSM+kbZ dks fdrus izfr'kr ls
de fd;k x;k\
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SSC MTS 16 August 2019 (Morning)

(a) 25 (b) 50

(c) 33.33 (d) 40.33

85. If the length of a rectangle is increased by
40% and the breadth is decreased by 20%,
then the area of the rectangle is increased
by x%. The value of x i s:

;fn fdlh vk;r dh yackbZ 40» c<+k nh tkrh gS rFkk
pkSM+kbZ 20» de dj nh tkrh gS] rks bl vk;r dk
{ks=kiQy x% c<+ tkrk gSA x dk eku gS%

SSC CGL 3 March 2020 (Morning)

(a) 20 (b) 12

(c) 16 (d) 8

86. If the perimeter of a certain rectangle is 50
units and its area is 150 sq. units, then how
many units is the length of its shorter side?

;fn fdlh vk;r dk ifjeki 50 bdkbZ gS rFkk bldk
{ks=kiQy 150 oxZ bdkbZ gS] rks bldh NksVh Hkqtk dh
yackbZ fdruh bdkbZ gS\

SSC CGL 7 March 200 (Afternoon)

(a) 9 (b) 12

(c) 10 (d) 15

87. The perimeter and length of a rectangle are
in the ratio of 8:1, and the area of the
rectangle is 1323 cm². Find The length of
the rectangle.

,d vk;r dk ifjeki vkSj mldh yackbZ 8%1 ds vuqikr
esa gSA vk;r dk {ks=kiQy 1323 oxZ lseh gSA vk;r dh
yackbZ Kkr dhft,A

CHSL 14-10-2020 (Evening shift)

(a) 22 cm (b) 23 cm

(c) 25 cm (d) 21 cm

88. The breadth of rectangular field is two-third
of its length. If its area is 864 m² , then find
the cost of fencing it all around at Rs. 15/m.

,d vk;rkdkj {ks=k dh pkSM+kbZ bldh yackbZ dk nks&frgkbZ
gSA ;fn bldk {ks=kiQy 864 eh2 gS] rks # 15@eh ds nj
ls pkjksa vksj ckM+ yxkus dh ykxr dk irk yxk,a

CHSL 19-10-2020 (Morning shift)

(a) Rs. 2000 (b) Rs. 1800

(c) Rs. 1600 (d) Rs. 2400

89. The perimeter of a rectangle is 80 cm and
its area is 375 cm².What is the difference
between the length and the breadth of the
rectangle?

,d vk;r dh ifjf/ 80 lseh gS vkSj bldk {ks=kiQy 375
lseh2 gSA vk;r dh yackbZ vkSj pkSM+kbZ esa D;k varj gS\

CHSL 21-10-2020 (Morning shifts)

(a) 12 cm (b) 20 cm

(c) 10 cm (d) 16 cm

90. The perimeter of a rectangle is 50 cm. Its
Area and length are in the ratio of 5 :1.  Find
the length of the rectangle?

,d vk;r dh ifjf/ 50 lseh gSA bldk {ks=kiQy vkSj
yackbZ 5%1 ds vuqikr esa gSA vk;r dh yackbZ Kkr dhft,\

CHSL 17-03-2020(Morning shift)

(a) 15 cm (b) 20 cm

(c) 18 cm (d) 22 cm

91. If the length of rectangle is increased by
12% and the breadth is decreased by 8%,
the net effect on the area is:

;fn vk;r dh yackbZ 12» c<+ tkrh gS vkSj pkSM+kbZ 8»
de gks tkrh gS] rks bl {ks=k dk 'kq¼ izHkko gS%

CHSL 18-03-2020 (Morning shift)

(a) Increase by 3.04%

(b) Increase by 2.6%

(c) Decrease by 3.04%

(d) Decrease by 2.6%

Rectangle + Circle
92. A circle circumscribes a rectangle whose

sides are in the ratio 4 : 3. If the perimeter
of the rectangle is 56 cm, then what is the
area (In square cm) of the circle?

,d o`Ùk ,d vk;r dks ?ksjs gq, gS ftldh Hkqtk,¡ 4%3 esa
gSA ;fn vk;r dh ifjf/ 56 lseh gS] rks o`Ùk dk {ks=kiQy
(oxZ lseh) D;k gS\

SSC CHSL 3 July 2019 (Morning shifts)

(a) 70 (b) 96

(c) 90 (d) 100
93. A wire is in the shape of a rectangle whose

sides are in the ratio 7 : 4. It was initially
in the shape of a circle of radius , very nearly
equal to 31.5 cm. The length of smaller side
of the rectangle is : (p = 22/7)

,d rkj ,d vk;r ds Hkhrj gS ftldh Hkqtk,a 7%4 ds
vuqikr esa gSA izkjaHk esa ;g o`Ùk dh f=kT;k ds cjkcj Fkk]
yxHkx 31-5 lsehA vk;r dh NksVh Hkqtk dh yackbZ
fdruh gSA

SSC CHSL 3 July 2019 (Afternoon)

(a) 44 cm (b) 36 cm

(c) 40 cm (d) 32 cm

94. The length of a rectangle is 6 cm more than
its breadth. And its perimeter is 100 cm. If
the area of this rectangle is nearest equal
to the area of a circle, then what will be the
circumference of this circle ?
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,d vk;r dh yackbZ] mldh pkSM+kbZ ls 6 lseh vf/d gS
vkSj mldk ifjeki 100 lseh gSA ;fn bl vk;r dk
{ks=kiQy ,d o`Ùk ds {ks=kiQy ds fudVre cjkcj gS] rks
ml o`Ùk dh ifjf/ fdruh gS\

SSC MTS 20 August 2019 (Afternoon)

(a) 88 cm (b) 110 cm

(c) 132 cm (d) 66 cm

95. The radius of a circle is equal to the length
of a rectangle. The circumference of the
circle and the breadth of the rectangle are
132 cm and 20cm respectively. The
diagonal of the rectangle is :(p = 22/7)

fdlh o`Ùk dh ft=kT;k fdlh vk;r dh yackbZ ds cjkcj
gSA o`Ùk dh ifjf/ vkSj vk;r dh pkSM+kbZ Øe'k% 132
lseh vkSj 20 lseh gSA vk;r dk fod.kZ gS

SSC MTS 21 August 2019 (Afternoon)

(a) 28 cm (b) 29 cm

(c) 25 cm (d) 27 cm

96. A wire, is in the form of a circle, encloses
an area 3118.5 cm2 . It is now bent to form
a rectangle whose length and breadth are
very nearly in the ratio 7:4. The length of
the rectangle, in cm, is: (p = 22/7)

,d rkj] tks o`Ùk ds :i esa gS] 3118-5 oxZ lseh {ks=k dks
?ksjrk gSA vc bls eksM+dj ,d vk;r cuk;k tkrk gS
ftldh yackbZ vkSj pkSM+kbZ yxHkx 7%4 ds vuqikr esa gSA
bl vk;r dh yackbZ (lseh esa) gS%

SSC MTS 22 August 2019 (Afternoon)

(a) 56 (b) 49

(c) 7 (d) 63

97. A circle is drawn circumscribing a rectangle
of sides 24 cm and 7cm. Find The area of

the circle. ( . )  3 14

,d o`Ùk 24 lseh vkSj 7 lseh Hkqtk okys vk;r ds ifjxr
gSA o`Ùk dk {ks=kiQy Kkr dhft,A

CHSL 19-10-2020 (Evening Shifts)

(a) 490.625 cm²

(b) 420.545 cm²

(c) 397.982 cm²

(d) 478.967 cm²

98. A rectangular lawn whose length is twice of
its breadth is extended by having four semi-
circular portions on its sides. What is the
total cost (in Rs.) of levelling the entire lawn
at the rate of Rs.100 per square metre if
the smaller side of the rectangle lawn is 12

m?(Take  = 3.14)

,d vk;rkdkj ykWu ftldh yackbZ mldh pkSM+kbZ ls
nksxquh gS] mlds Hkqtkvksa ij pkj v/Z&o`Ùkkdkj fgLls
cukdj bls c<+k;k tkrk gSA ;fn vk;rkdkj ykWu dh
pkSM+kbZ 12 ehVj gS rks iwjs ykWu dks 100 :i;s izfr oxZ
ehVj dh nj ls lery djus esa dqy ykxr (: esa) D;k gS\

CPO 23-11-2020 (Evening shift)

(a) 85320 (b) 86540

(c) 78650 (d) 97625

99. A rectangular lawn whose length is twice of
its breadth is extended by having four semi-
circular portions on its sides. What is the
total area (in m²) of the lawn if the smaller

side of the rectangle is 12m? ( . )  3 14

,d vk;rkdkj ykWu ftldh yackbZ bldh pkSM+kbZ ls
nksxquh gS] mlds fdukjksa ij pkj vFkZ&o`Ùkkdkj fgLls gksrs
gSaA ;fn vk;r dh pkSM+kbZ 12 ehVj gS rks ykWu dk dqy
{ks=kiQy (eh2) esa D;k gS\

CPO (2019) 24-11-2020 (Morning shift)

(a) 444 (b) 548.32

(c) 308.64 (d) 853.2

Parallelogram
100. The area of parallelogram is 338 m². If its

altitude is twice the corresponding base, its
base is:

lekarj prqHkqZt dk {ks=kiQy 338 eh2 gSA ;fn bldh ÅapkbZ
blds vk/kj ls nksxquh gS] rks bldk vk/kj fdruk gS\

SSC CPO 16 March 2019 (Morning)

(a) 13 (b) 14

(c) 26 (d) 28

101. The length of two sides of a parallelogram
are 3 cm and 10 cm. What is the sum of the
squares of diagonals of the parallelogram ?

,d lekarj prqHkqZt ds nks Hkqtkvksa dh yackbZ 3 lseh vkSj
10 lseh gSA lekarj prqHkqZt ds fod.kksZa ds oxksZa dk ;ksx
D;k gksxk\

(CGL Mains 15-10-2020)

(a) 218 cm² (b) 169 cm²

(c) 206 cm² (d) 109 cm²

Rhombus
102. Diagonals of a rhombus are respectively 4

cm and 12 cm. Its are (in cm²) is equal to:

,d leprqHkqZt ds fod.kZ Øe'k 4 lseh vkSj 12 lseh gSA
bldk {ks=kiQy (oxZ lseh esa) Kkr djsaA

SSC CHSL 09 July 2019 (Evening)

(a) 12 (b) 24

(c) 36 (d) 8
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103. What is the area of a rhombus (in cm²) whose
side is 10 cm and the smallest diagonal is
12 cm?

ml leprqHkqZt dk {ks=kiQy (oxZ lseh esa) Kkr djsa
ftldh Hkqtk 10 lseh gS rFkk lcls NksVk fod.kZ 12 lseh
dk gSA

SSC CHSL 04 July 2019 (Afternoon)

(a) 120 (b) 192

(c) 96 (d) 50

104. The two diagonals of a rhombus are
respectively, 14cm and 48cm. The
Perimeter of the rhombus is equal to :

,d leprqHkqZt ds nks fod.kZ Øe'k% 14 lseh vkSj 28
lseh ds gSA leprqHkqZt dk ifjeki Kkr djsaA

SSC CHSL 11 July 2019 (Morning)

(a) 120 cm (b) 160 cm

(c) 80 cm (d) 100 cm

105. ABCD is a rhombus with each side being

equal to 8 cm. If BD = 10 cm, AC = 2 x  cm,

what is the value of x 10

ABCD ,d leprqHkqZt gS ftldh izR;sd cjkcj Hkqtk 8
lseh dh gSA ;fn BD = 10 lseh] AC = 2 x  lseh gS] rks

x 10dk eku D;k gksxk\

SSC CHSL 11 July 2019 (Afternoon)

(a) 2 3 (b) 3 2

(c) 7 (d) 5

106. One side of a rhombus is 26 cm and one of
the diagonal is 48 cm. What is the area of
the rhombus?

fdlh leprqHkqZt dh ,d Hkqtk 26 lseh dh rFkk bldk
,d fod.kZ  48 lseh dk gSA bl leprqHkqZt dk {ks=kiQy
Kkr djsaA

SSC CPO 13 March 2019 (Morning

(a) 624 cm² (b) 580 cm²

(c) 520 cm² (d) 480 cm²

107. The perimeter of a rhombus is 20 cm. The
length of its one of the diagonal is 6 cm
Find the length of the other diagonal .

fdlh leprqHkqZt dh ifjeki 20 lseh gSA blds ,d
fod.kZ dh yackbZ 6 lseh gSA nwljs fod.kZ dh yackbZ
fdruh gS\

SSC MTS 2 August 2019  (Afternoon)

(a) 10 cm (b) 8 cm

(c) 9 cm (d) 6 cm

108. The area of rhombus is 300 cm2 . If the

length of one of the diagonals of the

rhombus is 30 cm, then what is the length

(in cm) of the second diagonal?

fdlh leprqHkqZt dk {ks=kiQy 300 oxZ lseh gSA ;fn
leprqHkqZt ds ,d fod.kZ dh yackbZ 30 lseh gS] rks nwljs
fod.kZ dh yackbZ fdruh gksxh \ (lseh esa)

SSC MTS 6 August 2019 (Evening)

(a) 25 (b) 10

(c) 20 (d) 30

109. If the lengths of the diagonals of rhombus

are 24 cm and 18 cm, then what is the area

of the rhombus?

;fn fdlh leprqHkqZt ds fod.kksZa dh yackbZ 24 lseh vkSj
18 lseh gS] rks bl leprqHkqZt dk {ks=kiQy Kkr djsaA

SSC MTS 7 August 2019 Afternoon)

(a) 196 cm² (b) 188 cm²

(c) 204 cm² (d) 216 cm²

110. The length of one of the diagonals of a

rhombus is 48 cm, If side of the rhombus is

26 cm, then what is the area of the

rhombus?

fdlh leprqHkqZt ds ,d fod.kZ dh yackbZ 48 lseh gSA
;fn leprqHkqZt dh Hkqtk 26 lseh dh gS] rks leprqHkqZt
dk {ks=kiQy D;k gksxk\

SSC MTS 8 August 2019 (Evening)

(a) 540 cm² (b) 420 cm²

(c) 360 cm² (d) 480 cm²

111. The length of the diagonal of a rectangle is

26 cm and one side is 10 cm. The Area of

the rectangle is:

,d vk;r ds fod.kZ dh yackbZ 26 lseh gS rFkk bldh
,d Hkqtk 10 lseh dh gSA bl vk;r dk {ks=kiQy gS%

SSC MTS 9 August 2019(Morning)

(a) 240 cm² (b) 260 cm²

(c) 65 cm² (d) 130 cm²

112. One side of a rhombus is 13cm and one of

its diagonal is 10 cm. What is the area of

the rhombus (in cm2) ?

fdlh leprqHkqZt dh ,d Hkqtk 13 lseh vkSj ,d fod.kZ
10 lseh gSA leprqHkqZt dk {ks=kiQy Kkr djsaA (lseh2 esa)

(CPO-2019) 23-11-2020 (Morning shift

(a) 30 (b) 60

(c) 120 (d) 90
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Trapezium
113. The parallel sides of a trapezium are 20 cm

and 10 cm and its non-parallel sides are
equal to each other. If its area is 180 cm2 ,
then what is the length (in cm) of each non
parallel side?

,d leyac dh lekukarj Hkqtk,¡ 20 lseh vkSj 10 lseh gSa
vkSj bldh xSj&lekukarj Hkqtk,¡ ,d nwljs ds cjkcj gSaA
;fn bldk {ks=kiQy 180 lseh2 gS] rks çR;sd xSj lekukarj
Hkqtk dh yackbZ (lseh esa) D;k gS\

SSC CHSL 04 July 2019 (Morning)

(a) 11 (b) 13

(c) 12 (d) 15

114. The two parallel sides of a trapezium are
27 cm and 13cm, respectively. If the height
of the trapezium is 7 cm, then what is the
area in m2 ?

;fn ,d leyac prqHkqZt ds nks lekarj Hkqtk,¡ Øe'k% 27
lseh vkSj 13 lseh gSaA ;fn leyac prqHkqZt dh ÅapkbZ 7
lseh gS] rks bldk {ks=kiQy Kkr djsaA

CPO-2019 23-11-2020 (Evening)

(a) 0.14 (b) 140

(c) 1.4 (d) 0.014

Combination
115. A square cardboard with side 3 m is loaded

through one of its diagonal to make a
triangle, the height of the triangle is:

3 eh Hkqtk okys ,d eksVs dkxt dks blds ,d fod.kZ ij
ls eksM+dj f=kHkqt cuk;k tkrk gSA bl f=kHkqt dh ÅapkbZ
D;k gksxh\

SSC CPO 16 March 2019 (Morning)

(a)
3

m
2

(b) 2 3m

(c) 3 2m (d)
2

m
3

116. The perimeter of a square is equal to the
perimeter of a rectangle of length 16 cm
and breadth 14 cm. Find the circumference
of a semicircle whose diameter is equal to
the side of the square.

,d oxZ dk ifjeki fdlh vk;r ds ifjeki ds cjkcj gS
ftldh yackbZ 16 lseh vkSj pkSM+kbZ 14 lseh gSA ml
v/Zo`Ùk dh ifjf/ Kkr djsa ftldk O;kl oxZ dh Hkqtk
ds cjkcj gS\

SSC CPO 16 March 2019 (Evening)

(a) 38.57 cm (b) 21.57 cm

(c) 23.57 cm (d) 25.57 cm

117. The diagonal of a square is equal to the side
of an equilateral triangle. If the area of the

square is 18 3  sq.cm. What is the area (in

cm2 ) of the equilateral triangle?

fdlh oxZ dk fod.kZ ,d leckgq f=kHkqt dh Hkqtk ds
cjkcj gSA ;fn oxZ dk {ks=kiQy 18 3oxZ lseh gS] rks
leckgq f=kHkqt dk {ks=kiQy (oxZ lseh esa) Kkr djsaA

SSC MTS 14 August 2019 (Evening)

(a) 54 2 (b) 27 2

(c) 54 (d) 27

118. The perimeter of a square plot is the same
as that of a rectangular plot with sides 35
m and 15m. The side of the square plot is?

,d oxkZdkj Hkw[kaM dk ifjeki mruk gh gS ftruk ifjeki
,d vk;rkdkj Hkw[kaM dk gS ftldh Hkqtk,¡ 35 ehVj
rFkk 15 ehVj gSA oxkZdkj Hkw[kaM dh Hkqtk gS\

SSC CGL 9 March 2020 (Evening)

(a) 25m (b) 20m

(c) 100m (d) 50m

119. The perimeter of a square is the same as
the perimeter of a rectangle. The perimeter
of a square is 40m. If its breadth is two-
third of its length, then the area (in m2 ) of
the rectangle is:

,d oxZ dh ifjeki ,d vk;r dh ifjeki ds leku gSA
oxZ dh ifjeki 40 eh gSA ;fb bldh pkSM+kbZ bldh yackbZ
dk nks&frgkbZ gS] rks vk;r dk {ks=kiQy (eh2) Kkr djsaA

CPO 23-11-2020  (Morning shift)

(a) 96

(b) 84

(c) 100

(d) 121

120. The base of a triangle is equal to the
perimeter of a square whsoe diagonal is

6 2 cm, and its height its equal to the side

of a square whose are is 144 cm². The area
of the triangle (in cm²) is:

,d f=kHkqt dk vk/kj] ,d oxZ dh ifjf/ ds cjkcj gS
ftldk fod.kZ 6 2  lseh gS] vkSj bldk ÅapkbZ ,d oxZ
ds Hkqtk ds cjkcj gS ftldk {ks=kiQy 144 lseh2 gSA
f=kHkqt dk {ks=kiQy (lseh2 esa)%

CPO 24-11-2020 (Evening Shift)

(a) 144

(b) 216

(c) 288

(d) 72
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121. The area of a square and rectangle are equal.
The length of the rectangle is greater than
the length of a side of the square by 10cm
and the breadth is less than 5cm. The
perimeter (in cm) of the rectangle is:

,d oxZ vkSj vk;r dk {ks=kiQy cjkcj gksrk gSA vk;r
dh yackbZ oxZ ds ,d Hkqtk dh yackbZ ls 10 lseh vf/d
vkSj pkSM+kbZ 5 lseh de gSA vk;r dh ifjeki (lseh esa)
Kkr djsaA

CPO 21-11-2020 (Evening shift)

(a) 40

(b) 100

(c) 80

(d) 50

122. The perimeter of a square is half the
perimeter of a rectangle. The perimeter of
the square is 40m. If its breadth is two-
thirds of its length, then what is the area of
the rectangle ?

,d oxZ dh ifjf/ ,d vk;r dh ifjf/ dk vk/k gSA
oxZ dh ifjf/ 40 ehVj gSA ;fn bldh pkSM+kbZ bldh
yackbZ de nks&frgkbZ gS] rks vk;r dk {ks=kiQy D;k gS\

CPO 25-11-2020 (Morning shift)

(a) 321

(b) 196

(c) 400

(d) 384

Regular Hexagon

123. The area of a field in the shape of a hexagon

is 2400 3  square metre. What will be the

cost of fencing it at Rs. 18.50 per metre?

,d "kV~Hkqt dk {ks=kiQy 2400 oxZ ehVj gSA 18-50 izfr
ehVj :i, ds fglkc ls bl ij ckM+ yxkus dh ykxr
D;k gksxh\

SSC CHSL 1 July 2019 (Evening)

(a) Rs. 4440

(b) Rs. 5920

(c) Rs. 5550

(d) Rs. 5180

124. If the area of a regular hegagon is

108 3 cm², its perimeter is:

;fn fdlh le "kV~Hkqt (Regular hexagon) dk {ks=kiQy

108 3  gS] rks bldk ifjeki (Perimeter) gS%

SSC CPO 15 March 2019 (Evening)

(a) 36 2  cm

(b) 42 3  cm

(c) 28 3 cm

(d) 24 cm

125. The side of a hexagon is 4 cm. The side of

square is 4 2  cm. Find the ratio of their

areas.

fdlh "kV~Hkqt dh Hkqtk 4 lseh gSA fdlh oxZ dh Hkqtk

4 2  lseh gSA muds {ks=kiQy dk vuqikr fdruk gS\

SSC MTS 6 August 2019 (Afternoon)

(a) 3 3 : 2

(b) 2 3  : 1

(c) 3 3  : 4

(d) 3 /2 : 1

126. The area of field in shape of a regular

hexagon is 2400 3  m². The cost of fencing

the field at Rs. 16.80 metre is:

le "kV~Hkqt ds vkdkj okys ,d eSnku dk {ks=kiQy 2400

3  oxZ ehVj gSA 16-80 :i;s izfr ehVj dh nj ls bl

eSnku ij ckM+ yxkus dh ykxr Kkr dhft,A

SSC CGL 4 March 2020 (Evening)

(a) Rs. 4536

(b) Rs. 3024

(c) Rs. 4032

(d) Rs. 3528

127. The area of a field in the shape of a hexagon

is 1944 3  m³. What will be the cost (in Rs)

of fencing it at the rate of Rs. 11.50 per

metre?

le"kV~Hkqt ds vkdkj okys ,d eSnku dk {ks=kiQy 1944

m³3  gSA 11-50 :i;s izfr ehVj dh nj ls iQsaflax yxkus

dh yxkr (: esa) D;k gksxh\

CPO 24-11-2020 (Morning Shift)

(a) 2256

(b) 2785

(c) 3200

(d) 2484
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Answer Key

1.(c) 2.(c) 3.(d) 4.(c) 5.(b) 6.(c) 7.(d) 8.(d) 9.(b) 10.(d)

11.(b) 12.(b) 13.(a) 14.(a) 15.(b) 16.(c) 17.(b) 18.(a) 19.(d) 20.(b)

21.(b) 22.(b) 23.(c) 24.(b) 25.(c) 26.(b) 27.(c) 28.(b) 29.(d) 30.(d)

31.(a) 32.(a) 33.(a) 34.(c) 35.(d) 36.(b) 37.(a) 38.(b) 39.(d) 40.(b)

41.(d) 42.(d) 43.(a) 44.(b) 45.(c) 46.(d) 47.(b) 48.(d) 49.(d) 50.(a)

51.(d) 52.(d) 53.(a) 54.(c) 55.(b) 56.(b) 57.(b) 58.(b) 59.(b) 60.(a)

61.(a) 62.(b) 63.(c) 64.(b) 65.(a) 66.(a) 67.(d) 68.(a) 69.(b) 70.(a)

71.(d) 72.(a) 73.(d) 74.(d) 75.(d) 76.(b) 77.(c) 78.(c) 79.(a) 80.(c)

81.(c) 82.(a) 83.(a) 84.(c) 85.(b) 86.(c) 87.(d) 88.(b) 89.(c) 90.(b)

91.(a) 92.(d) 93.(b) 94.(a) 95.(b) 96.(d) 97.(a) 98.(a) 99.(d) 100.(a)

101.(a) 102.(b) 103.(c) 104.(d) 105.(c) 106.(d) 107.(b) 108.(c) 109.(d) 110.(d)

111.(a) 112.(c) 113.(b) 114.(d) 115.(a) 116.(a) 117.(d) 118.(a) 119.(a) 120.(a)

121.(d) 122.(d) 123.(a) 124.(a) 125.(c) 126.(c) 127.(d)
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